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Note —

Note :—

Answers may be written either in English or in Hindi; but
the same medium should be used throughout the paper.
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The maximum marks printed on the question paper are

applicable for the students of the regular colleges (Cat. A).

These marks will, however, be scaled up proportionately in
respect of the students of NCWEB/SOL at the time of pos.ting
of awards for compilation of re.:sult.
Anempt. any Five questions.
frt wtw el § I fer

PTO.



Lo 2 aL) 1460

(@)  What do you mean by macro-economics ? Distinguish

between GDP and GNP, 347

()  What are the activities that are not included in

GDP ? 8

() TafeTd stefemes ¥ a9 7= 9mem § 2 Gpp

M GNP H R TR Fifew)

(@)Wmcopﬁ‘mﬁaﬂﬁaﬁaﬁ?

(a) How does. equilibrium level of income get affected by

(/) a shift in aggregate expenditure function, and (i)

a change in the slope of aggregate expenditure

function ? ; 44

(b)

(%)

Given the following data for an economy :
Consumption function C =230+ 080 Yd =

Investment I = Rs. 100 crores

Il

Government Expenditure G = Rs. 100 crores

I

Taxes T Rs. 100 crores

Calculate the following :
(/) Savings at equilibrium level of income.

(ii) " The value of multiplier and the change in income,

if investment decreases by Rs. 20 crores. 34
() Trfes =9 wer # fewwa i) afes
= HeH % @ H Uftadd § 3™ w9y

W fF9 ywr ywfad &ar & 2
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(b)
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39T Hed C = 250 + 0.80 Yd
ﬁﬁ?{_' I =100 FT &
TR =a G = 100 HS .
E : | T = 100- HE %
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How does foreign GDP and relative international prices

affect the net export function ? 8

Show the effect of change in tax rate on the equilibrium

level of income in a three-sector economy. 7
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(@) What do you mean by macro-economic equilibrium ? 6

(b))  What are aggregate supply shocks ? How do they affect

the price level and real GDP in short-run ? 2.7
(%) Taftema enfds W &1 = owd ¥ 2

(@) afew gff SUSH F B € ? A I Fhd
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(@  What is Fiat Money ? What are the limitations of barter

system ? 25

(b) What is money ? Explain jts functions, 8

(ﬁ)m&ux(ﬁaogmw%?a@ﬁﬁwwm‘}
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(@)  Explain the process of credit creation in a single bank

economy using ratios approach. 8

(6)  What is |5 curve ? What causes g shift in IS

curve ? T
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(a) Distinguish between devaluation and depreciation. How
does deva!uation-help in correcting the adverse balance

of payments 9 9
(5)  Explain the Purchasing Power Parity theory: 6

(%) 931 # STATTT  (devaluation) U9 - geagryg
(depreciation) § 31w wyer Hifem | Aftae HTIHH
W H G o fre -segem 2y i
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(b) Write, short notes on any two ;
() Automatic Stabilizers
(i)  Fixed Exchange Rate System

(i) Actual and Potentia] Gpp. 44

PT.0.



NG AT R
(if) @T%mm

(iii) W qor F“E oD

50,000



